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6 Claims.

This invention relates as indicated to slide
rules and more particularly to a slide rule de-
signed for use in analyzing commercial accounts
of financial institutions such as banks. }

It is among the objects of my invention to
provide a slide rule or calculating instrument

from which any information with regard to the -

analysis of & particular account may be obtained
instantly and without lengthy -computation to

0 determine whether an account which the bank
has or is contemplating accepting will be a profit-
able or unprofitable business to the bank,

Other objects of my invention will appear as
the description proceeds.

To the accomplishment of the foregoing and
related ends, said invention, then consists of
the means hereinafter fully descljibed and par-
ticularly pointed out in the claims.-

The annexed drawing and the following de-

20 scription set forth in detail certain mechanism
embodying the invention, such disclosed means
constituting, however, but one of various me-

chanical forms in which the principle of the

invention may be used.

In said annexed drawing:—

Figure 1 is a plan view of one face of a slide
rule constructed in accordance with the princi-

25

ples of my invention; Figures 2 and 3 are re-

spectively different settings of the rule denoting
30 the manner in which accounts operating under
different conditions may be analyzed; and Fig-
‘ure 4 is a transverse sectional view of the slide
rule illustrated in the previous figures.
The calculating instrument comprising my in-
35 vention is designed, as previously .indicated, for
use in analyzing commercial accounts of bank-
ing institutions in order to arrive at certain in-
formation which may be briefly outlined as fol-
lows:—
1. The cost of handling any number of items
on the basis of a plurality of sets of costs.
2. The yield on any balance at a plurality of
rates.
3. The mterest payable on any balance at any
rate.
4. The number of items any balance will sup-
port.
(@) Without mterest on the account.’
(b) Without interest but with a percentage of
profit to the bank. ) .
(c) With interest at any rate.
(d) With interest at any rate and a per-
centage of profit to the bank.
5. The balance necessary to support any num-
ber of items.
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(CL 235—70)

(a) Without interest on the account.

(b) Without interest but with a percentage of
profit to the bank,

(e) With interest at any ra’oe

(d) With interest at any rate and a percentage 60
of profit to the bank.

6. The profit or loss on any balance with any
activity.

(@) Without interest on the account,

(b) With interest at any rate.

1. The equitable charge that should be made
on any account not maintaining & compensatory
bhalance.

8. When accepting a new account—

(@) Whether the account will be proﬂtable or 70
unprofitable,

(b) Whether the account warrants the pay-
ment of interest at prevailing rates.

(¢) What balance should be carried with the
proposed activity, if no interest is desired. -

(d) What balance should be carried with the
proposed activity, if interest is requested.

(e) What balance should be carried with pro-
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" posed activity, no interest desired, but a percent-

age of profit to the hank.

() What balance should be carried with pro-
posed activity, interest requested, and a percent-
age of profit to the bank.

Preliminary to an explanation of the manner
in which the slide rule caleculator comprising my 85
invention may be employed in manipulating for
the purpose of arriving at any of the above in-
dicated results, a brief explanation of.the sev-
eral scales on the instrument will first be given,
prior to the specific description of each scale.

Scale RB—4Y is’ a regularly calibrated scale,
that represents realized balances maintained by
an account. Scale S—P is a regularly calibrated

80

20

"scale, that represents one month’s earning power

on the balances opposite on scale RB—4Y. Scale 95

. C—1. is a regularly calibrated scale identical to

S—P. Scale BC--IU; BM—IC; and Bi10M—IM
are non-~logarithmic scales whose calibrations are
a decreasing variable. These calibrations are
based on graded, scales of costs and are placed 100
in juxtaposition with the corresponding costs on
scale C—L.' On the high scale these positions
would be based on the following schedule of
costs.—Five cents for the first fifty items; four
cents for the next fifty items; three cents for the 105
next hundred items; two and one-half cents for
the next hundred items; two cents for the next
hundred items and one and one-half cents for
the balance of the items.

Scale BM—I 1% is a regularly calibrated scale -11¢
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2
and represents one month’s interest at 1% on
the scale S—P in thousands of dollars.
RB—3%Y, RB—4Y, RB—4%Y and RB—41,Y
are scales that represent the realized balances
maintained by customers, and are used accord-
ing to the periodic net earning power of the bank
upon its invested funds, that is if a bank is
earning 4%, the RB—4Y is used. These scales

may be referred to as the upper stationary scales .

and have equal calibrations. Any point on these
scales may be“used as a balance in hundreds of
dollars, thousands of dollars, and ten thousands of
dollars.

Thus, the point 5 may represent—

"~ Five hundred dollars_ .. ____. $500. 00
Five thousand dollars.._ .. ______ $5, 000. 00
Five ten thousand dollar__.__.______ $50, 000. 00

BC—IU, BM—IC and BIOM—IM are scales
that represent the number of items collected and
paid for a customer during the period of a
month. On the three scales can be found any
number of items from one item to seventy thou-
sand items.

BC—IU denotes balances in hundreds, items in
units. The meaning of this designation is that
the scale is an item scale divided into single items
and when this scale is operated against the bal-
ance scale as RB—4Y, the balance scale is used
as hundreds of dollars. Thus, the point 40 on
scale BC—IU placed opposite the point 8 on the
scale RB-—4Y would mean 40 items on an ac-
count that maintains a balance of 8 hundred
dollars. This scale has calibrations that are non-
logarithmic which progressively decrease. :

BM—IC denotes balance in thousands, items
in hundred. 'The meaning of this designation is
that the scale is an item scale divided into hun-
dreds of items and when this scale is operated
against the balance scale RB-—4Y, the balance
scale is used as thousands of dollars. Thus, the
point 20 on scale BM—IC placed opposite the
point 15 on scale RB—4Y would mean 20 hundred
or 2000 items on an account that maintains a
balance of 15 thousand dollars. This scale has
calibrations that are non-logarithmic which
progressively decrease in the first portion thereof,
that is from zero to 10, but thereafter the re-
maining calibrations are equal.

B10M—IM denotes balances in ten thousands,
items in thousands. The meaning of this desig-
nation is that the scale is an item scale divided
into thousands of items and when this scale is

- operated against the balance scale RB—4Y the
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balance scale is used as ten thousands of dollars.
Thus, the point 15 on scale B1I0OM—IM placed
opposite the point 19 on seale RB—4Y would
mean 15 thousand items on an account that

- maintains & balance of 19 ten thousands of dol-

lars, or $190,000.00. This scale has calibrations
that are for the most part equal {o each other and
to the beforementioned remaining calibrations in
the scale BM--IC.

C—L. The scale C—L represents the cost in
dollars of the number of items directly opposite
any point on the items scale, or when the slide
is moved to the left side this scale represents the
loss in dollars on the account analyzed. The
calibrations of this scale are equal to each other
and bear a fractional relationship to the scale
RB depending upon the rate of interest,

8—P. The scale S—P represents the service in
dollars that can be rendered for the balance di-
rectly opposite any point on the RB scale, or
when the slide is moved to the right, this scale

1,978,088

represents the profit in dollars on the account
analyzed. This scale has calibrations that are
equal to each other and to those of the adjacent
C—L scale, and may be denoted the lower station-
ary scale.

The scales C—L and S—P are read as printed
when using the balances in thousands of dollars
or the items in hundreds Thus, the point 25
would read $25.00.

When using the balances in hundreds or the:

items in units, these scales are read with a
decimal one point to the left. Thus, the point 25
would read $2.50.

When using the balances in tens of thousands
of dollars or the items in thousands, these scales
are read with a decimal one point to the right.
Thus, the point 25 would read $250.00.

BM—I 1% denotes balances in thousands, in-
terest at 1%. The meaning of this designation is
that the scale is the interest in dollars.at 1% for

one month on the balances in thousands of dollars -

as shown on the scale S—P. Thus, the point 20
on scale BM—I 1% directly opposite the point 24
on scale S—P means twenty dollars is the inter-
est at 1% for one month on 24 thousand dollars.

With the above explanation of the different
scales on the several relatively fixed and relative-
ly movable parts of the rule in mind, an explana-
tion of the manner in which the enumerated re-
sults or information obtainable by use of such
scale will now be briefly outlined.

I. CosT OF HANDLING ANY NUMBER OF ITEMS

In order to arrive at this result the scales on
the slide portion of the instrument only are neces-
sary. The scale C—L represents the cost of the
items. The scales BC-—IU; BM—IC; and
B10M—IM, respectively designate the number of
items in units, hundreds and thousands.

On the scale BC—IU

Note that the decimal is moved one point to the
left in reading scale C—L, when dealing with
items in units.

The point 20
The point 50
The point 100
The point 150

20 items, cost $1.00 on scale C—I;
50 items, cost $2.50 on scale C—I,
100 items, cost $4.50 on scale C—1L
150 items, cost $6.00 on scale C-—1I,

On the scale BM—IC

Note that the decimal is in its normal position
on scale C—L when dealing with items in hun-
dreds.

Thepoint 3 3 hundred items 300, cost $10.00
on scale C—L

The point 10 10 hundred items 1000, cost $21.00

" on scale C—L

The point 16 15 hundred items 1500, cost $28.50
on scale C—L

The point 25 25 hundred items 2500 cost, $43.50
on scale C—L

On the scale BIOM—IM

Note that the decimal is moved one point to the
right in reading scale C—L, when dealing with
items in thousands.

Thepoint 5 5 thousand items 5000, cost $51.00
on scale C—L

The point 10 10 thousand items 10000, cost
$156.00 on scale C—L

Thepoint 15 15 thousand items 15000 “cost
$231.00 on scale C—L

The point 20 20 thousand items 20000,
$306.00 on .scale C—L

cost
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II. THE YIELD ON ANY BALANCE AT A GIVEN RATE

In the drawing only one face of the rule is
shown, Along the top portion of the rule, i. e,
the stationary part, are indicated two_scales
RB—3%Y and RB—4Y denoting that these
scales have been constructed respectively on the

" basis of 3% % and 4% yield on the realized bal-
-ance.

The rule may be widened to permit the
inclusion of other scales based on different per-
centages of yield although it will probably be
more convenient to arrange the scales for the dif-
ferent percentages of yield on the back of the
rule, thereby keeping the size of the rule down
to a point where it may be conveniently handled.
In order to determine the yield on any balance at
the particular rate on which the RB scales are
based, only the stationary portion of the rule is
needed. 'The scale S—P represents the service
in dollars that can be performed for any balance
on the scales RB. The scale S—P is in its normal
position as printed, when used against balances
in thousands of dollars. When used in balances
in hundreds of dollars, the decimal is moved.one
point to the left; when using balances in tens of
thousands of dollars, the decimal is - moved one
point to the right.

On the scale RB—4Y

The point 3—

3 hundred dollars $300 will permit a service
costing $1.00, scale. S—P .

3 thousand dollars $3,000 will permit a service
costing $10,000, scale S—P

3 ten thousand dollars $30,000 will permit a
service costing $100.00, scale S—FP: .
The point 12—

12 hundred dollars  $1,200 will permit a service
costing $4.00, scale S—P

12 thousand dollars $12,000 will permit a service
costing $40.00, scale S—P

12 ten thousand dollars = $120,000 will permit a
service costing $400.00, scale S—P

On the scale RB—3%Y

The point 24—

24 hundred dollars $2,400 will permit a service
costing $7.00, scale S—P

24 thousand dollars $24,000 will permit a service
costing $70.00, scale S—P

24 ten thousand dollars  $240,000 will permit a
service costing $700.00, scale S—P

III. TaE INTEkxsr PAYABLE ON ANY BALANCE AT
ANY RATE

For this operation only the lower portion of
the rule is necessary. The scale S—P is used as
the balance scale in thousands; the scale BM—I
1% is the monthly interest on the balances at
1%. Thus, we have—

The point 12 on scale S—P $12,000. Interest at
1% is $10.00. Scale BM—I 1%

The point 18 on scale S—P $18,000. Interest at

" 1% is $15.00. Scale BM—I 1%

The point 24 on scale S—P $24,000. Interest at
1% is $20.00. Scale BM—I 1%

By moving the decimal one point to the right or
to the left in the principal, it is quite plain that the
answer will be correct if the decimal is moved in
the same direction for the -interest. Thus, we
have—

The point 18 on scale S—P $1,800. Interest at
1% is $1.50. Scale BM—I 1%

3

The point 18 on scale S—P $180,000. Interest at
1% is $150.00. Scale BM—I 1%

The point 24 on scale S—P $2,400. Interest at
1% is $2.00. Scale BM—I 1%

The point 24 on scale S—P $240,000. Interest at
1% is $200.00. Scale BM—I 1%

With the interest given at 1%, it is-easy. to de-
termine the interest at the prevailing rate for
any given bank by reducing either the principal
or the interest to the prevailing rate.

Thus, if the prevailing rate is 1%2% and the
principal $18,000, the correct answer can be ob-
tained either by determining the interest on 11,
times $18,000, or by taking 1%, times $15.00. Iu
either case, the interest would be $22.50.

IV. TuE NUMBER OF ITEMS ANY REALIZED BALANCE
‘WILL SUPPORT

(@) Without interest on the account.

For this operation the upper stationary portion
and the slide are necessary. The scale “RB—any
% Y represents the realized balance maintained.
The scales opposite these balances on the slide
will give the number of items supported.

When the slide is centered with respect to the
stationary scales as illustrated in Fig. 1, the rule
indicates the position of no profit or no loss on
the account, or what activity any balance will
carry without profit or loss. Thus—

On scale RB—4Y

The point 3—

3 hundred dollars $300 will support a 20 item
activity—BC—IU

3 thousand dollars $3,000 will support a 300 item
activity—BM-—IC

3 ten thousand dollars $30,000 will support a
6,250 item activity—Bl1OM—IM .

The point 18—

18 hundred dollars $1,800 will support a 150
item activity—BC—IU

18 thousand dollars $18,000 will support a 3,600
item activity—BM-—IC

18 ten thousand dollars $180,000 will support a 14)
40,000 item activity—B10M—IM

On scale RB—31%L,Y

The point 12—
12 hundred dollars
activity—BC—IU
12 thousand dollars $12,000 will support a 1 925
item -activity—BM—IC .
12 ten thousand dollars = $120,000 will support a
23,000 item activity—B10M-—IM

(b) Without interest but with a percentage of
profit to the bank. )

(¢) With interest at any rate.

(d) With interest at any rate, and a percentage
of profit to the bank. .6

The settings for these three operations are per-
formed in the same manner. Pirst determine
what the profit or interest at a given rate on the
balance must be, as set forth in explanations un-
der “No. 3.” L

() Thus, suppose the bank wishes to make a
profit of 1% : Determine the interest at 1% on the
given balance, for example a $24,000.00 balance
would necessitate a $20.00 profit on the account ,
if the bank wishes to make 1% on the balance .-
maintained. Move the arrow on the slide until
it is directly opposite the point 20 on the scale
“S—P” and- opposite the point 24 on scale
“RB~4Y"; read on the scale BM—IC, 3,600 items,
as shown in Fig. 2.
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(¢) It is very evident that the same setting
would apply if the customer is to receive 1% on
his balance and the bank to make no profit on
the account. Should the prevailing interest rate
be 1%, the arrow on the slide should be placed
opposite the point 30. In this instance $24,000.00
will support 2,925 items.

(d) If interest at the prevalling rate of 1% is
to be paid, and the bank is to make & 1% profit
on the account, we would have a total profit re-
quirement of 2% on the balance maintained, or

a $40.00 profit necessary on the account. The.

arrow on the slide is accordingly moved opposite
the point “40” on the scale.“S-—P,” and in this
case $24,000.00 will support 2,275 items.

Should the prevailing rate be 1%2%, and the
profit desired 1%, the account would be obliged
to carry a $50.00 profit. The arrow on the slide
is sccordingly moved opposite 50 on scale “S—P,
and in this case, $24, 000 00 will support 1600
items.

V. THE BALANCE NECESSARY TO SUPPORT ANY NUM-
BER OF ITEMS

(a) Without interest on the account.

This problem is the inverse of “4—a”. For this
operation the slide and the upper stationary por-
tion of the rule are necessary. The balance on
scale RB any % Y opposite any given activity
is the balance necessary to support that activity.
The slide rule at center as shown in Fig. 1, indi-
cates the position of no profit or loss on the ac-
count, or what balance is necessary to support
any activity without profit or loss. Thus—

On the scale BC—IU

A 30 item activity requires 42 hundred dollars
$450.00 balance, scale RB—4Y

A 100 item activity requires 13'%2 hundred dollars
$1,350.00 balance, scale RB—4Y

A 150 item activity requires 18 hundred dollars
$1,800.00 balance, scale RB--4Y

On the scale BM—IC

A 3 hundred (300) item activity requires 3 thou-
sand $3,000 bal.,, RB—4Y

A 16 hundred (1 600) item activity requires 9
thousand $9,000 bal.,, RB—4Y

" A 30 hundred (3,000) item activity requires 15%

50 -

556
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thousand $15,250 bal., RB—4Y
On the scale B1 OM—IM

A 3 thousand item activity requires 115 ten thou-
sand $15,000, bal.,, RB—4Y

A 15 thousand item activity requires 7 ten thou-
sand $70,000, bal.,, RB—4Y

A 30 thousand item activity requires 131 ten
- thousand . $135,000, bal.,, RB—4Y

(b) Without interest, but with a percentage of .

profit to the bank.

(¢) With interest at any rate. :

(d) With interest at any rate and a percentage
of profit to the bank.

The settings for these three operations are per-
formed in the same manner, because in every in-
stance we have a certain percent of profit to be
obtained from the balance, in order to pay for the
interest or profit desired. In this case, however,
the balance being the unknown quantity, the
amount of interest cannot be pre-determined
from the balance; it must, therefore, be deter-
mined from some other factor.

The exact position of the slide can be figured
for any rate, and any yield by the following for-
mula: )

Interest rate
. Yield rate minus interest rate

This may seem complicated at first sight, but it
Is very simple in actual operation, as the first g4
factor remains the same in a given bank, unless
there is some change in the interest or yield rate.
Assuming that the interest rate in a given bank
is 15 % and that the profit desired by the bank
on accounts is 1%, and the yield being used is

times cost of the
activity

4%, we would have for an account-— 85
(b) Where a proflt only is desired:
4%l1>(cost, or 14X cost
(e) Where interest only is required: %
4—_1_}?%Xcost, or 5;,A,Xcost or 3/5Xcost
(d) Where interest and profit are desired: 9%

2}/ 5/2
%Xcost, or /2Xcost or 5/3 X cost

These factors should ordinarily be determined
by the accountants in the bank and will remain
the same until there is a change in the yield on 100
funds, the interest paid on balances maintained,
or the profit desired. Thus, in the example list-
ed above, where the yield is 4%; the prevailing
interest rate 1% % and the profit desired 1%, we
would always have for— : N 105

(b) 153 X cost of the activity.

(¢) 3 X cost of the activity.

(d) 5/3 X cost of the activity.

(b) Without interest, but with a percentage 110’
of proflt to the bank, .

(¢) With interest at any rate.

(d) With interest at any rate and a percentage
of profit to the bank.

Assuming that we have an account with 3600 115
items, and wish to know what balance should be
maintained in order to carry that activity if a
profit of 1% is to be made for the bank, and the
prevailing yield rate is 4%, we would first deter-
mine the cost of 3600 items and find it to be $60.00. 120
Then according to the formula, we would have—

15 of $60.00 equals $20.00

‘We would, therefore, have to make a profit of
$20.00 on this account to meet these conditions.
The arrow on the slide is accordingly placed op-
posite the point 20 on scale S—P as shown in
Fig. 2, and opposite the point 36 on scale BM—IC,

we would read $24,000.00 on RB—4Y. The cor-
rectness of this operation can be proved by deter- 130
mining one month’s interest on $24,000.00 which
will be $20.00, exactly the amount of the profit
made.

An account with 2600 items which: cost $45.00

to handle, would show the following result: 135

(b) Profit only, ¥ X 45 equals $15.00. Balance
$18,000.00

(¢) Interest only, 35 X 45 equals $27.00. Bal-
ance $21,500.00 )

(d) Interest and profit, 5/3 X 45 equals $75.00. 140
Balance $36,000.00

These balances are read on RB—4Y opposite the
point 26 on BM—IC, after sliding the arrow on
C—L opposite the points 15, 27 and 75, respec- 145
tively, on scale S—P. )

An account with 1600 items which cost $30.00
to handle, would show the following result:

(b) Profit only, ¥3 X 30 equals $10.00. Balance
$12,000.00 1650
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(¢). Interest. only, % X 30 equals $18.00. Bal-
ance $14,500.00

(d) Interest and profit, 5/3 X 30 equals $50.00.
Balance $24,000.00

These balances are read on RB—4Y opposite the
point 16 on BM—IC, after sliding the arrow on
C—L opposite the points 10, 18 and 50, respec-
tively, on scale S—P.

VI. THE PROFIT OR LOSS ON ANY BALANCE WITH
*  ANY AcCTIVITY .

(a) Without interest on the a.ccount;

The arswers for these problems are obtained
by sliding the number of items directly opposite
the balance maintained and reading the point op-~
posite the arrow on scale S—P, for any profit on
the account, and the point opposite the arrow on
scale C—L for any loss on the account. Thus,
by placing the point 150 on scale BC—IU oppo-
site the point 24 on RB—4Y, as {llustrated ih Fig.
2 we have—

A $2,400 account, scale RB—4Y with 150 items

scale BC—IU, a profit of $2. S—P
A $24,000 account, scale RB—-4Y, with 3600 items
scale BM—IC, a profit of $20. S—P

A $240,000 account, scale RB—4Y, with 39,750'

items scale BIOM—IM, a profit of $200. S—P

By placing the point 150 on scale BC—IU, oppo-
site the point 5 on RB—4Y, as illustrated in Fig.
3, we have—

A $500 account, scale RB—4Y, with 150 items
scale BC—IU, a loss of $4.30, C—L

A $5,000 aceount, scale RB--4Y, with 3,600 items
scale BM—IC, a loss of $43.00, C—L

A $50,000 account, scale RB—4Y, with 39,600 items
scale BILOM—IM, loss of $430.00. C—1

(b) With interest at any rate,

The profit or loss on any account, bearing ln-
terest at the prevailing rate, is determined in the
same manner as on accounts without interest.
The interest is then determined on the balance
maintained. If the account shows a profit before
interest payment, the interest paid is deducted
from the profit, and thus a net profit, or a net loss
is obtained. If the account shows a loss prior to
interest payment, the interest paid is added to the
loss and the figure thus obtained is the total loss
on the account. .

VII. THE EQUITABLE CHARGE THAT SHOULDP BE
MADE ON ANY ACCOUNT NOT MAINTAINING A
COMPENSATORY BALANCE

'This operation is intended for banks desiring
to make an equitable service charge on accounts
that show them a loss.
operation is performed exactly like the operation
of No. VI, and is infended only for accounts
showing a loss.

The equitable service charge for any account is

the loss sustained by the bank on that account
Thus, we have—

A $500 account with 150 items, should be charged -

at least $4.30
A $5,000 account with 3,600 items, should be
charged at least $43.00

A $50,000 account with 39,600 items should be-

charged at least $430.00

way prevents a bank from making a minimum
charge under certain conditions, or if not making
a charge until the loss has reached a point at
which the service charge should become effective.

It is very evident that this

5

Thus. there may be a minimum charge of $1.00 for
accounts not maintaining a required balance. In
this case, the figures on the slide rule would be-
come effective only after the account has exceeded
the minimum charge. - ‘

Likewise a regulation such as not making a
charge until the loss has exceeded a stipulated
amount may be made operative. Thus, it may
be advisable not to charge an account until the
loss has reached 25¢. In this case, the service
charge for the loss sustained would become oper-
ative only when it has exceeded the stipulated
amount.

As previously indicated, only one face of the rule
and one face of one of the slides has been illus-
trated. The reverse face of the rule may be pro-
vided with different base scales of realized bal-
ances at different percentages of yield. PFurther-
more, the various faces of the several slides will
have the scales arranged thereon based on differ-
ent costs per unit of items. The {llustrated slide
is based on the cost of the items as defined by the
table at the right hand end of the slide, namely 5¢
for the first 50; 4¢ for the next 50; 3¢ for the
next 100 etc. The several slides, as well as the
different faces of each slide may be employed in-
terchangeably with different faces of the rule
making possible 48 settings all operated in the
same manner to suit the needs and conditions of
any type of banking institution.

100

1
Other modes of applying the principle of my

invention may be employed instead of the one ex-
plained, change being made as regards the mech-
anism herein disclosed, provided the means stat-
ed by any of the following claims or the equivh-
lent of such stated means be employed.

I, therefore, particularly point out and dis-
tinctly claim as my invention:

1. In a slide rule having a fixed member and
a slidable member, a plurality of scales arranged
thereon, including. a stationary scale having
equal calibrations arranged on one part of said

. fixed member, a datum line on said slidable mem-

ber, a non-logarithmic scale on said slidable
member cooperating with said stationary scale
and calibrated in progressively decreasing cali-
brations from said datum line, and a second sta~-
tionary scale of uniform calibrations arranged
on another part of said fixed member, to co-
operate with the non-logarithmic secales.

2. In a slide rule having a fixed member and

a slidable member, a uniformly calibrated sta-
tionary scale on & part of said fixed member, &
datum line on said slidable member, a non-
logarithmic scale on said slidable member, of
progressively decreasing calibrations from said
datum line, cooperating with . said statiohary
scale, and a second scale of uniform graduations
arranged on said slidable member to cooperate
with said non-logarithmic scale.
3. In the structure in claim 2, in combination
with an index line on said fixed member, for co-
operation with the uniform scale on the slide
member, )

4. In the structure in claim 1, said datum line
on the slide member cooperating with the sec-
ond stationary scale on the fixed member,

5. In a slide rule having a fixed member and
a slidable member, a uniformly graduated scale

~ on & part of said fixed member, a non-logarithmic
This method of making a service cha.rge 1n n0'

scale of progressively decreasing calibrations on
said slidable member, & second uniformly gradu-
ated scale on said slidable member, adjacent said
logarithmic scale, an index line on said slidable

~member, & third uniformly graduated scale on
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another part of sald fixed member, and a fourth
uniformly graduated scale, arranged adjacent
said third uniformly graduated scale on said
fixed member. .

6. A slide rule having a fixed member and a
glidable member, & stationary uniformly grad-
uated scale on said fixed member, a plurality of

5

30

70

{ ]

related non-logarithmic scales on sald slidable

member, of progressively decreasing calibrations,
cooperating with sald stationary scale, and a
second uniformly calibrated stationary scale on
sald fixed member cooperating with any of said
non-logarithmic scales. .

v JOHN A. BOLL.
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